
 ��������	
 ���

��
 ����
 ,29 ����
 ,�1� �����
 ,�2017� 1438$%� 

– 17 – 

 ��������	
 ���

��
 ����
 ,29���
 , ��1�& & , 17  − 35 �����
 ,�2017� 1438$%�
 

����� ��	�
 

������ 
�� �� ����* 
�)�� *��
 ����+ 

� , -.�� ��/20 11 1437$%;-.�� 12/3  , 25 12 1437$%� 
�������:4�5�
 ��6 17�� 89 :��2�
 ;< =25�
 ����> ?@A BC2�
 D3�.E� ,FG HI��2�
 J
�E/
3  K ��LG M��E� FNO ;�PQ�
 8� ��LR�
 ST% ?@A U��G3

 4�5�
V�G UP�	
 ��G HW�R�
 
)�6 ?%6 =% =E�
 −X��Y  −�Z ���.��
 ��[� ?E\ �9  K��LR�
 , J�Q7]�
 ^�_ X> BC2�
 `�aY �/3, �����
 ��%�bc
 dHG3 
=25�
 ����> e�C5Y HG �Q�f,����5]Y J

g 8� �����
 ��%�bc
 ST% h=i , ��3 ,�QC�C5Y ��j3  KO
 ?%6 ���E�
 ?k/ �� l� ��LR�
 , ��� 8� �Q��j ��� �

�
mjc
3 n�7.�
; F.� X36 :��2�
 U)o l� ,��f�.�
 , e5Y3 ,�p��]�
 , e5Y c HI��2�� =25�
 ����> U6 �%��]� ���EN X> *�q D�_ 8� r�s�� 
����	�G K
 , ^�t
 X> uj� =E�
 v�2�O
 BC2�
 wx Po
 H22� , �Q�y63 ,��LR�HR�z:PQ�N�k3 ,1].E��G �m]�
 J
�E/
 , J�Q7]�
 ^�_ P|36 : 

1�5]E��G *�q U��G BC2�
 }�~ , J�+3 ,�)�L�
 4�~3 ���	
 4�~ HG �/���
 ���2i , J�Q7]�
 ^�_K ULG �P�j  �Q.�
 )% BC2�
 
T% , l2E�
 �Q.�

=i�2.E�c
 �Q.�
3 U
�7�
 ���CE�
K 

� ��� ����!	�"�:4�~ ,�C~ ,=2~ ,����> K 
_________________________________________________________________________ 

The Boy  as a Prayer Leader 
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Abstract: This research studies the issue of the boy as an imam ( prayer leader). It discusses whether a boy that has not reached puberty 

can lead prayers, even though he is well aware of prayer activities. It also discusses  whether adults should accept to be led by him in prayer. 
The issue is important since prayer is the second pillar of Islam after the declaration of faith in Allah. The research examines in detail the 

ulama's varied views on the issue and the arguments for and against permissibility. It follows a comparative analytical methodology and a 
deductive methodology. The research makes the following conclusions: it not permissible for the boy to lead adults in congregational 

compulsory prayers, but it is permissible in voluntary prayers; even in voluntary prayers priority should be given to adult imams; the ulama's 

disagreement in that respect derive from (a) their differences on the issue of  compulsory prayers being led by someone performing voluntary 
prayers, and (b) their differences on the nature of the relationship between the prayers of the imam (leader) and the ma'muum (led). 

Keywords: imamate, boy, validity, prayer. 
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